Section-A [1x10=10]

1. SIS YT (TUb YT BT Hel It}
T IR YT § feig 1)
i) 72 3R 120 &1 HCF &=IT 8IT?

(i) af (3, 4) 7T (x, 3) B ST B A 52T,
GIPNCARICERIE



(iii) U fgand IHtaxTax® + bx +c=0&
HeA JTd B BT G &
(M) b*-4ac<0

~
LN

v) Tt fohIST T &Il AT B B B3I
BT G T8l &

(1) /s(s-a)(s-b)(s-c)

(2) s = a+b+c/2

(3) 1/2 ab sinC

(4) None of these

(vi) 2, 4,5,3,4,3,4,1, 2B H &
(

(

(

(



(vii) T} FHIaRUT & Vb B F1d 81 R,
TR T BT &:

(1) 1/a

(2) -a

(3) -1/a

(4) a

(viii) x = 13IR y = 3 Teb 3T &, ST SpH2I: X
3R y 3781 R IHIHR B

(1) True

(2) False

(ix) SOft &7 3T U< 13, 10, 7, 4, ... BT
3TaRTeT BT



2. T g2t I youf ®u § ITR-gfeiepr #
fe| (6x1=6)

(i) cos 1° &1 ar @ ... i

(i) /16 3IR 24 T HCF 31R LCM T

BT

(iii) SOt 30°, 1 31k 60° H ATS ... BT

(iv) 37 2, 5, 21,1, 5, 7, 1 &I AT JATd B |

(V) 196 & 31TY UIHEE] & 2l U& ITd

P

(vi) T 2T T v foig W et 31k 375

1 BT PBIUT 60° B dT 37 BIUT JTd BN |




Section-B [¢Tg 3Tl [4x3=12]

3. (i) 9 s = ? JTd B

(i) Tp 3MTIT | y 3R X b 37TATH J7Td B |
(iii) few 77 3T H tan® FATd |

4. fFHfefad wedl &l g &e:

(i) AAOB & AM/AB = AN/AD g &<|

(i) Pythagoras Theorem @7 ¥ X &g
G

(iiii) IHIBIOT ax? + bx + ¢ = 0 & MR W
A BT HH AT B



Section-C [fe¥qd 3t{14]

[10x2=20]

5. (i) 2tanB/1-cos?0 = cos?0 - sin?60°
Gg &

(ii) X2 - X - 6 = O Bl &A BRI

(iii) AA = %2 ab sinC &7 JINT & & Fhel

3T B

(iv) FHIROT sin30° cos90° T TS AT

B

6. AABC H ofd 3R 31THR &1 31dTd 3ATd
Gy

7. A S Jd B

8. 4,5, 6, 7 3R x 3JTd &I

9. ot g &t T FATd B



Section-D [10x4=40]

16. 15 cm A1 dTet g & bg O I 40°
BI0T R BT & 3id fdg 3Td Y|

17. Ve g {5 gt 31 5 cm &, 399 fdg
I gl ATd B

18. FHIBOT 2x+3y=13 Ud 4x+5y=23 &I
8T 3JTTd B |

19. sinB - 2sin?0 = tand BT gcl B1|
20. I RO BT JAIT B |



